
Updtu0tuqpntplnt0 N2

( bpUUCt-ClU,Uetr -Ell3-16/8> burb\urqpnrl2p2urhur\*thl, hurilur&urltrtuqphpfr tllr2ngnq

qtrnr-d \urururphlnr- phprugur\*pgft htuh&hrudnrlntfr purgtituh trfrutnfr

p.bpt  tu0

Uruu0tu[gntil tlr0'
{u0d0tudnqnql 0ufuruquh' 9.ep]rqnplurtrp

{ru0d 0udn4ntllr ur 04url 0bp' U. Ohtu 0;u 0, U.Utupl,nul u ti, C.Up bg u fi

{,u0d0udnr1n{h puptnnlqtup' d. 1fr21u0

29.11.2016p.
d . l 6 : 0 0

rftuuhtr

(tr.ap[qnF]urh)

1.1 Q04n0hh qlrtnntP;m0, nP.

ru) uruhrlu0rltub durlllbmnrf l, utuhilru0tlrud lunqb quhu020bplr0

0 bptltul ur g pb1 hburt'J tul \u qrhu llbpqntpl nt 0 tthpp.
hutiuquuruufuu0 q0u1[0 unu2rup[ k

Lltuu0ruU q h u 0tl tu 0ntiln [IuuOtuUqlr hruuqb0

1).<Unqrurlurtrn hruhntlp > UflIQ l. bplru0, Llur2unglr 45ru,hhn.091 42 60 O8,qddayants@qmail

z).<9npru2hb) U'[e 2.bpt u0,U2urrupru\fr |udnqh 2p,hhn. 055 95 95 85, Ll.huugh'zorasbegOrqaLru

3).r$nrnntu U..[C r. bplrru0,Ltpp Uuptu2 2-nl rfrnr1ng,66 tnnth,hhn.(043)10 95 30" h
nuruqh' ms.foton20 l 4(@ma i l. ru

U

<$nrnntu U'tlC-h linTflrg trtp\ulurgrlurb hur}np rltpur4urpd'{h1 t }rptL hurlurhp}r purgrluh llfruurnt 'hfr p

gfuInlLhtnq rftp frurqnp uprltrlr N570-1774 qpmplmLg,nplrtr \g{urb Lp 2urlururnurh}r 2urhpuurltuntplurh

Qlrtrurtruhhplr Lrurluurpruplr urtrlur\urfr 2016p. \hriphpb 02-b N03t3-3/24804-16 qpmplurL qururdhtrp:

p) rluu0rutf g tthplt \n{rlhg q 0ur1 [0 tuntu?upl'llr trfIE hburt'; r-i0 htr {{ 4ptud

?rurJrrupt-u
d0h
hrudrupp

CbnB pbntlnq uqpu0Pft
ur0rlu0nr0p

<Upqrur-{u04 luhnqp> U'lO
a0ru1fr0 unugutpQp(hh 4pu[n{,
trbpunlul uuth)

<9npu2hh>r U'IlC
a0ru1[0 runrugrupQp hh 4pudn{,
0bpun1u1 rutuh)

I 9puruhrlurlt 3000 000 3 288 000

2
t

Qpuruhqurtr 1408400 22t1996

3 Qpuruhrlurh 1659600 2047 992

4 Qpruuhrlutt 200 000 195 600

5 9puruhrlurh 250 000 249 000

6 9nh$hpurhu uhqurh 400 000 378996

7
Qpuuhbl ur\utt |rl, upnn

960 000 953592

8 Qpruuhtr3ur[*lttt rrpnn 1980 000 l 968 000

9 Qpuuhblru\*thtt uldnn I 870 000 1 860 000

10 truq\upnn 3C0 000 297 004

1 1 'Ihuhurpurh I 600 000 1 s90 000



72 'tlurhurnurh 150 000 144 000
1 3 'thuhurpurtr 600 000 798 000
7 4 trurqtlng 500 000 489 600

15 Uhrlurtr 30 000 59 496

1.2<9npur2th > U'rlC-|r h cUpqunluhl \urhnqp> UaC -b UqubS 0hp\ru;ugrlud hurlrnhpp hurlurulururuu[uuOntrl
h0 (bluUq -CZU'IIPF -15113-16/8) durb\uqpn{ pgntlp}t ltpullhpml ui.uhfur0{ud' dpurpfr lurqrirlur0 l,
0bpl1ur1urgrlu0, purgr.lrui bpurpnLf hprur{hpn{ 0urfuuruhu{urd {uuurnurprphpfr un[ur1rrrp1ur0 t 4purOg
hrurftuquruuuufuru0mplm0g hpur{hpn{ uuhfu0tlr"ud {urqh1uquJ$ut00hDF0 :

Q04n0{ht t npn2ntf' \n4d - 4, 4hrl - 0:

1.3 <9npur2tl,u> U,rIC-]r h <Upqur{urfuI \ubntlp> UaC -f qnnUhg OhpUu1rugprub glrOuOuur[ur0 gnLgur0lt20hplt'
q0ru1f0 urnurpurpllr L h0p0rupdhph hur2{upl iur0 62ump1m0g L unur2urnUurd qofruo unrupLltu;lr mbtuobUurUruo
hururlur0fr20bplr hurfulutruururuluur0mplm0ll hpur{hpn{ uuhfru0{urd 0{uquqr10 rqruhu020hpfr0 q0uhurmqht t
npqhu hurf urqrurnuruluur0n4:

C04m0{b1t npn2mU' UqU - 4, 4b0 - 0:

1.4 9Lurhunnnq hurtrd,trurdn4mlp npn2hg'
Ltp\utlurgpurb qhurl]rh urnu.r2urp\hhpf hltiluL rlpur 1-3,13,15 2urlrupurdlrhbhpml ripgnrlp[ I hh rnhl
q1u{hgbn{ durhur2hl <Upqullur\ \urhmlp> U,\C-htt, }ru\ 4-12,14 2urJluprudftrtrhpnr{ pgnr,lp}r l-frh urtrl

Clu{tSLnq durhurlhl' <9npur2hlu U,rl0-l!::

1.5 2ullur&ur1h 7.5 \huf l-]rh hLrpu\hurlr trnltrlphl]r 30-]rh hurpgmrl \unnurptl 22 $|rLrutruhhplr
hurluurpurpnrp3nh:

Q0rUtt0rlbt t nnnZnLd' !n4 - 4,4hd - 0:

1.6 2ullud,urlir hpullhpf 7.5 \turlr 2-pq thpur\hrnlr burbnqhl 1-]rh rntqp qrrurlhghnq rfuruhur\glrh
Lhp\utlugtrtlm hurfu ulnturlurb rlruruuruprlptpg:

C0qm6{b1t npn2uru' Un{U - 4, 4hU - 0:

1.7 2u2np1 hlruurg \\ulurtrur 22 $|LuLuLtpf huluurpurpmplurtr tqlur\urgmplmhp l.r l-|rh rnhqp
qultgln4 rlurutrur\glr hhp\urlurgrlurb rlruruururprlptpg uururtrurlmg hhrnn:

C04n0rlh1t npn2nLd' !n4d - 4, 4hd - 0:

U. Ohu01ru0

U.Lltupt nuJLu0

e .Uphgrutr

d.'ttJtZltuh

{u0d0udnr1n{fr ,ry
Lufuuq-h' @P e.apfqnptuh

U04ud0hp

€urprnntrlultr


